Paper: B.E_B.Tech
Set Name: |ltem33
Exam Date: | 28 July 2022
Exam Shift: | 1
Langauge: |Urdu
Topic: Mathematics-Section A
Iltem No: 1
Question
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Question
Type: MCQ
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Topic: Mathematics-Section A
Iltem No: 2
Qgestion 100602
ID:
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Type: MCQ
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Topic: Mathematics-Section A
Item No: 3
Question
D- 100603
Question
Type: McQ
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Topic: Mathematics-Section A
Iltem No: 4
Question
D- 100604
Question
Type: McQ
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Topic: Mathematics-Section A
Item No: 5
Question
D- 100605
Question
Type: MCQ
Quest <" « (tautology) (}yL‘_g (P*Qe(p © ~q) A q/pf/f *, © € {a, v} (Operations) f?,;f
uestion:
P (K, 0) g7
A: (v, A)
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C: (A A)
D: (A, V)
Topic: Mathematics-Section A
Item No: 6
Question
D- 100606
Question
Type: MCQ
f AUkl b SUAP e q (Magnitude) = 5 LS
Question: B & o 5 N
: ﬁ'—M’J axb| .o (bya—18xb) & (xa+yb) 2l L (5, y) € R2-{(0, 0)}
A: 93
B: 273
C: 9
D: 81




Topic:

Mathematics-Section A

Item No: 7
Question
D: 100607
Question
Type: MCQ
C(a,b) B (cost, sint) <A(sint, — cost) S e &bl uoii§slaf] ABCIZ L te (0,2m)
Question: ;
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Topic: Mathematics-Section A
Item No: 8
Question
D: 100608
Question
Type: MCQ
. Gl R Zeblobse R={(x, y) 1 & ¥ 7 3x+y} 2U 07 R 2l yNZLL aeN
uestion: r 5
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Topic: Mathematics-Section A
Item No: 9
Question 100609
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Type: MCQ
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Topic: Mathematics-Section A
Item No: 10
Question
D: 100610
Question
Type: MCQ
ahl@ Py =y, xe (0 m2) Ji
Question: | <FL-L y(w/4)=e T = J"K (Sin22x)jl+(85inz 2x+2sin 4x)y:2e_4x(2sin 2x+cos2x)
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Topic: Mathematics-Section A
Iltem No: 11
Question
D- 100611
Question
Type: MCQ
5 . o & .. s oz
46726 POR &bt coo gt $6, (0,1) B u:’ud/&é Q s P by y2=2x-3 &
Question:
-< (orthocentre)
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c: (6, 3)
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Topic: Mathematics-Section A
Item No: 12
Question
D- 100612
Question
Type: MCQ
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Topic: Mathematics-Section A
Item No: 13
Question ID: 100613




Question Type: | MCQ
Question: Fe :‘dlgpﬁf—ﬂfgﬂﬂif 5 f72022+32022 _—
A: 0
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 14
Question
D- 100614
Question
Type: MCQ
01 0
L n21c. By=AdjB,_,) ) -« Bo= AB+2A% Ol A=|0 0 1) oy gy Sp
Question: 1 0 0
ce il det(By) = <&
A 328
B: 330
C: 332
D: 336
Topic: Mathematics-Section A
Item No: 15
Question
D 100615
Question
Type: MCQ
o { . o ] o _ . ) 11 .
7 S5y = 122 e (C: ‘zz - |22+ ]H—‘Zz + |2’2— 1”; ol 5 =177 € C: ‘zq —3‘—EJ J’u:/ur’/
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Topic: Mathematics-Section A
Item No: 16
Questi
Do 100616
Questi
T;pees: ion MCQ
Question: | ¢ ‘Lgl,{fu/;ufduiypuig%/i 2043y +z= 6§ BLly X2+ y2=1,z=005D
A (6x+5y—12)2+4(3x+ 7y—8)2=1,z=6—2x—3y
B: (5x+ 6y —12)2+4(3x +5y—9)2=1, z=6—2x -3y
C: (6x+5y—14)2+9(3x+5y—7)=1,z=6—-2x -3y
D: (5x+6y—14)2+9(3x+7y—8)2=1,z=6—-2x—3y
Topic: Mathematics-Section A
Item No: 17
Question ID: (100617
Questi
T;pees: ion MCQ
. . 5x2 .
Question: | _¢_y1, L o e UAFS fW="t% , x>0
X
A: B2
B: 64
C: 128
D: 256

Topic:

Mathematics-Section A




Item No: 18
Question | 100618
_?;pees:tion MCQ
YUkl A U g:R5R »f flx) = ax®+Bx3+vyx, xe R L)..J/(ub/;_.%?ﬂﬁ' &?7..:.3 v 4 B ca fu_f/u"/
Question: w? el Wus pos Ut U 4o I.JJ'QL?al, Ay, A3 .vy an,/'ﬁl_ii xeR /b g(f(x)) =x f+ Lf
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Topic: Mathematics-Section A
Item No: 19
auestion 1 400619
1Q_}l/.Jpees:tion MCQ
i Ant2 =an+_1 Tan ula,=2a;=1 f+ C}’J'ﬁg}_")::% ay, 4y, ay, ... (Sequence) J"D.Q
. a1+q1 512+E;l a3-E-a1 a30+a’
Auestion: —a a362 ' ag = asg s a3o = =20~'(1’1C31) /ﬁl-ié n=123....
¢ .‘L.I'IJ:L Q
A ~30
B: -31
C: — 60
D: —61
Topic: Mathematics-Section A

Item No:
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100620

Question Type: | MCQ
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Topic: Mathematics-Section B
Item No: 21
Question
D- 100621
?ues.tion Numeric Answer
ype:
Fose A, B,C D, B} IlSvulee Uiiidle gre crbusimle ool S SUSFP
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Topic: Mathematics-Section B
Iltem No: 22
Question
D- 100622
Question .
Type: Numeric Answer
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Topic: Mathematics-Section B
Item No: 23
Question
D- 100623
1C_)ue§tion Numeric Answer
ype:
©0,1) JI- f1)=5 » f0)=3 SIS U= O, ) S6radPern U £:10,1]1 >R JYUSF/
Question: | Uz ol xe (0,1) bEfe fuler e Go b6 2uii y=2v+3 wiOULf
- f"(x) =0
Topic: Mathematics-Section B
Item No: 24
Question
D- 100624
1Q_ue§tion Numeric Answer
ype:
48 155"
L 5& I | : dx=a\/§+{3-\f§ ;
I Pe il el ' 3 |
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-4
Topic: Mathematics-Section B
Item No: 25
Question
D- 100625
1Q_ue§tion Numeric Answer
ype:
. & gou 2 2 - o
(A+B2=B2 2 =d §a, apsl-c (/A (A+B)?=A2 4{2 2} recdlo, o SU/P
Question:
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Topic: Mathematics-Section B
Item No: 26
Question
D- 100626
Ques.tion Numeric Answer
Type:
ay .l az <as <a; J/L):/J/’.u:/cf{ q>0 2 flx)y=(x—p)2—q xeR J@Jﬁgf’iﬁp, qeR
Question: = DL i=1,23,4 <\ ‘f(a£)|:500 /'aliz"_ QFJ)UL—_I:/M‘L. p ;y;:fdzq’?ufﬁ@dw
. J/ (absolute) JEund Usied f(x)=0
Topic: Mathematics-Section B
Iltem No: 27
Question ID: | 100627
?ue§tion Numeric Answer
ype:
- 1{.2 yZ
-2 PLLE: S+ 7=1,2>b>0 So2usl x2—y2=1 $si
a
Question: . Vsl a7 0 3 o 7 4 7
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5
_.;:'_.,:l,:e':. 4(a2+b?) ...I-'cJH HE < JWULE yz\/;erK L (2)
Topic: Mathematics-Section B
Item No: 28
Question
D- 100628
Question .
Type: Numeric Answer
Jre (x;—1)2 S % e % e L] x=3 uf.‘u”g_,{guﬁxw'&j-.’.‘f X1, Xo, X3, ey X .J/u_:/j}
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Topic: Mathematics-Section B
Item No: 29
Question ID: | 100629




Question .
Type: Numeric Answer
3 .
. i (x+2cosx) +2(x+2cosx)2+35111(x+2c05x)
Question: sl Hm 3 5
T x>0 (x+2)” +2(x+2)°+3sin(x+2)
Topic: Mathematics-Section B
Iltem No: 30
Question ID: | 100630
Ques.tion Numeric Answer
Type:
Question: s 302 9% +17  5x%—7x+19 3 Z Pinbn sl
' e il = & I8RO0 x
a 2 43x+10  3x2 +5x+12 AR
Topic: Physics-Section A
Item No: 31

Question ID: 100631

Question Type: | MCQ
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(52 =By 2l = pg /)
A: M T2 T—z]
B: [MLT-2
c [M 121 T~2]
D: [M T2T=2 A‘T]
Topic: Physics-Section A
Iltem No: 32

I%‘?GS“O” 100632

Question
Type: MCQ




d{.:'_lﬁléjbﬁ:‘-_‘:l,;élfﬂd/ 196 m ;e Wbz § NCC e Jed 9km/h 2L 5L 1

Question: 4 _
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Topic: Physics-Section A
Item No: 33
Question
D: 100633
Question
Type: MCQ
AUt IF I onie e Ui el (S ed 5 kg $nGie Jbd 25 ms 1 (tus foil®
Question: _9Ju7u:;§ 5 (i) U4 3 (i)
: %J:l}é;.ufgtiyﬂ
A: _Juﬁd.r Le &Ulwuf:::.a}'fd Ijg{; E sl
B: il S B Ssl B U U s
C: _?ﬂﬁﬁfﬁd/ﬂdjvaﬁhdlufaﬂbufﬂ
D: L Uﬂﬁu Sy Shosl sl e o £
Topic: Physics-Section A
Item No: 34
Question
D: 100634
Question
Type: MCQ
Quest L,‘J{:u: 5s u:?ﬁ-{a.(ﬁ'glﬁajﬁxd/ 45 m/s P C}UL{LBJE}-‘L.‘IO g U~ lﬁc}bi ul,}‘_g
uestion:
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Topic: Physics-Section A
Item No: 35

Question ID: 100635

Question Type: | MCQ

Question: :?L%ﬂCV'L@JJJT;:‘F-JLSJL}:”!JJUJILL?%’ 2% /BJ"._EAJJ L;f-f;/'ﬁl

A £ 2%

5 £ 4%

C: ﬂ}.l:.} 2%

D: BJL.:' 4%
Topic: Physics-Section A
Item No: 36

Question ID: 100636

Question Type: | MCQ

: fﬂaﬁdljiufgfbﬁ:JUJJi/@thLgcﬁ 1 cm? é.;cﬁjl}o'uf

Question:
(2x 1011 N/M2(Y) Jibbels)
A: 1x107 N
B: 1.5x107 N
c: 2% 107 N
D: 25x107 N

Topic: Physics-Section A




Item No: 37
Question
D- 100637
Question
Type: MCQ
testion: | =720l Qs 30% AT 40°C Senzond ES_c 50% =d6Sf It
: En
A: 166.7 K
B: 2551K
C: 266.7 K
D: 367.7 K
Topic: Physics-Section A
Item No: 38
Question
D- 100638
Question
Type: MCQ
,ugéé.;aty..uufgb
il t'ﬁ/“;%.:fﬂf,?}}:/rfikz‘ Jy;;r K:,uwtw-ﬁ@.g 3 UF
Question: u:uy;ﬁdf:cl’&ub‘d?:cl’;i.@L:fbﬁ:f&ﬂfgﬂ/ﬁ_‘a.ﬂ Jlg&/hz)ljjygauv‘f{‘l’ufu-{_g 2 | P
Qb 20 Jp Erbaliienl gt L s
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Topic: Physics-Section A

Item No:

39




Question ID:

100639

Question Type: | MCQ

Question: : ,T_JEJJ@,:uﬁ 7 =05 sin%ﬁ (400 t —x)m o fsla(Ss

A: 200 m/s

B: 200v2 m/s

C: 400 m/s

D: 400v2 m/s

Topic: Physics-Section A

ltem No: | 40

Question | 100640

_?;pees:tion MCQ

ouestion: | £ K% 30 LU EL Ll It 2y i e 40 WF e bo§ e Ut P i
: $bS xee Qlpst 24UF 2ol SpBIT e (bl

A: 1.5

B: 25

C: 1.2

D: 3

Topic: Physics-Section A

ltem No: | 41

Question | 490641

_?;pe;:tion MCQ

Question: | : & 6=t pf e =rpG-c Qent/nd QPSS U bbf U 1L LIE Ry o

A: 9:1

B: 1:9
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Topic: Physics-Section A
Item No: 42

Question ID: 100642

Question Type: | MCQ

~ #

e Flbrerdnda a0

Jehdlusk (A
Question: Sy ;;ﬂ ,g-*dy-:bu‘-" (B)
S L £".J (©)

S5l 3L e (D)

A: (B) and (C) only
B: (C) and (D) only
C: (A) and (C) only
D: (B) and (D) only
Topic: Physics-Section A

Iltem No: 43

Question 100643

Questi

T;Ipees: on MCQ

jm.f_JﬂJ:;{yL’f"n,;gWJ’Lé.g,f_ 045 kg m~1 30U L v Qlos bl LIGE S e
&t IE e P SN K 015 T SAS folp o e gl 45° FuL
{g=10m/s3 {nndeerifibnd £

Question:




A: 30 A
B: 15 A
C: 10 A
D: 3A
Topic: Physics-Section A
ltem No: | 44
Question 1 100644
_IC_I;pees:tion MCQ
Otestion g &Jl}l&ﬁlu Sl 30 mH U2 5 sin(@9mt— 30%) e tbsbr$ dr 2L S P bS]
fr=2 5} Greit

A 1.47 sin(49 wt — 30°)
B: 1.47 sin(49 wt + 60°)
c 23.1 sin(49 wrt — 30°)
D: 23.1 sin(49 wt + 60°)
Topic: Physics-Section A
ltem No: |45
Question ID: | 100645
%Jpees:tion MCQ

(c=3x108ms—1: /"__L;.*) : J!E (e JBJ&J}MLLJ)Q,J}LU:&‘U»{_ yfgwﬂufﬁfw
Question: Air Me:glzril 1 M:IqiumZ

e.=4 | =9
S v, A

A: Air > I 1.0x108 ms—1
B: Medium > .-l 05x108 ms—1




C: 1.5x 108 ms 1!
D: 3.0x 108 ms 1!
Topic: Physics-Section A
ltem No: |46
Question 1 100646
_?;pees:tion MCQ
ovection: | #G ke 3t 2 QS han g 30 cm s SBL P ed LIS St
ne
A: 20 cm
B: 30 cm
C: 10 cm
D: 15 cm
Topic: Physics-Section A
ltem No: |47
Question 1 499647
_IC:);pees:tion MCQ
I ufu:'.fl,el/;jl_.‘aalfJdt’x‘lé.a‘:L/QEyr‘ﬁxdEJ;;)I}?I‘.Q A= ]'12? nm e fyl-
=dd ) =m Uiz
Question: Sl #1=P
de13 378 =k
AL Lo =y
A vmK
JP
C: JK




D: AV
Topic: Physics-Section A
Iltem No: 48
Question ID: | 100648
Question
Type: MCQ
: " ; o 7 # .
Question: |+ eyl 2 d gy Sy 5 Led M dUte s 60 Soicid§ S50
A ey 120
B: ey 130
C: ¢ 180
D: o 190
Topic: Physics-Section A
Item No: 49
Question ID: 100649

Question Type: | MCQ

Question: : ,‘:;_MVP,‘?JJKJf s:..,lbl;-; DIAA
I
A:
V :
I_n
B: <
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)
'T Y

Topic: Physics-Section A

Item No: 50

Question ID: 100650

Question Type: | MCQ

Question: : ;.‘ftﬁ (H) U%J"ALE“L}IL;@U:%JM"

A = 1

B: w =1

C: M= &

D: M= 0

Topic: Physics-Section B

Item No: 51

Question ID: | 100651

_?ues.tion Numeric Answer
ype:

. 7 w . A A P A ~ 2 A #
Question: | _ by S pif T rofrob g2 w4} 2k A
Topic: Physics-Section B
Iltem No: 52
Qgestlon 100652
ID:

Question .
Type: Numeric Answer




o St S LA S 64 e wo kol Lk bbb 30 282 $iiid
uestion: ‘ 3
-4 Gt PEA L sl el
Topic: Physics-Section B
Item No: 53
Question
D- 100653
Que§tion Numeric Answer
Type:
EL U Pl i At S Qs PIELLIS (Laser) 420§ 560 nm U2, FL G A bk
Question: JJ]L;/JJ_.‘L.J%J’E 8.1 mm JJJJJ@LL ds;ff»cﬁ;u:}%};:"_t‘Efl.,'-(db':"*‘lj’::}z_/‘mfl_{;. 7.2 mn d:ud/
_J}’E nm E,f'djl’d/
Topic: Physics-Section B
Item No: 54
Question ID: | 100654
_?;pees:tion Numeric Answer
= 1 - L = -
» 212rad s 1 .:'_dlpﬁb( 7 &ﬁ@fﬁdlwgéxdzﬁdﬂ}m& LCR ,;gﬁjﬂn
Question: n
_Ew mH JWESEES e R=5Q L3 eriptel gt 232 rad 151
Topic: Physics-Section B
Item No: 55
Question
D- 100655
_?;pees:tion Numeric Answer




£4V LRBY Lierpfie 300 em (U il 20 @ wripdUbR B e VIS e
B FLL 20mV e WAL L L R etp (L5 ertp e Ze 3L 573078

= QJJGJR-‘L.':L{ 60 cm 1Y
Question: 4V R
———O—RB—
A B
@
20 mV
Topic: Physics-Section B
Item No: 56
Question
D- 100656
Ques.tion Numeric Answer
Type:
S E U BrulE st 2410730 em 411210730 em oA Sk 0 L P G
Question: | 1t bl U sl pdauiniogt SX1NC1 4 15X 104 NC-1 bzl (P
- 1 - = .
.2 B8 x_b T = F be{u:/
Topic: Physics-Section B
Item No: 57
Question
D 100657
_CI_)ue§tion Numeric Answer
ype:
et Jed” 36 km/hr A8 L1z w2 2GS 320 Ha of /gl i Hz, 45 & (0
uestion: 5 . ; . ;
_.J!E 330 m/s JL;JJJIJ Ufb’f..‘a.l?"ﬁflﬁfc):}éf r ua.u% ‘L.O?JJ‘?L
Topic: Physics-Section B
Item No: 58
Question
D- 100658
Question

Type:

Numeric Answer




e U8 035 ems =1 < 1750 kgm =3 =320 JFLE 2 mmnes S e L]

Question:
(‘leﬁl/gJG':.bl.TJlﬂ)_gﬂ poise L;,/”‘J %/‘;K:{.'%J)IJJ)K‘L.UJI o
Topic: Physics-Section B
Item No: 59
Question
D- 100659
Ques.tion Numeric Answer
Type:
£ ‘L.t'LJ‘.f 25 cm fj/,;’lug‘gy;/:f,?;. E dtlﬁdgf,ﬂ? (‘a."b'?k%ufffk”)afbﬂ{m :.‘;:’/
- Nn= UL;ZK)’E nEnm-1 &~ ‘_i:ﬁ/,;lKjf;luﬁdwl_‘a.d[guda}‘lu.lﬂ;w
Question: —»E
Smooth surface
Topic: Physics-Section B
Iltem No: 60
Question
D- 100660
Ques.tion Numeric Answer
Type:

Question:
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Topic:

Chemistry-Section A

Item No: 61
Question ID: 100661
Question Type: | MCQ

Question: ﬂé@LdekbkaufJ,ﬁ

A: e l:'L'-yGL«K/;ﬁ{_ t'/;ﬂj?u):}Gquu’%}*l;dﬁbule)lﬁg)’:f
B: e () JBGrus L ST 2

C: - l:'/..:.a;L?r i"'cﬁu.ﬁj’kﬁﬁsé@'iéﬂ.&ﬂ:{

D: =R %0, gJﬁT@qﬁa_{_ﬁé [ »ln s f;lf.._j/"
Topic: Chemistry-Section A

Item No: 62

Question ID: 100662

Question Type: | MCQ

Question: ?‘:._ Ufé‘yt"/&u:pt}

A: AH =AU -PAV

B: AU = q+ W

C: &Ssys = &Ssurr =0

D: AG=AH-TVS

Topic: Chemistry-Section A

Item No: 63

Question 100663

ID:

Question MCQ

Type:




e U Al e 1

| QO || O
Cd(s) + 2Ni(OH)3(s) » CdO(s) + 2Ni(OH)(s) + HyO) () el I
Question: Zn{Hg) + HgOfs) > ZnOGs) + Hell)  (B)  pugssgpgse I
2PbSO,(s) + 2H,0() - Pb(s) + PbO,(s) + 2HpSO4(9) () FPe I
2Hp(g) + O2(8) > 2H,00) (D) _Bukdssse IV
EFnbe DL
2 (A) - (1), (B) - (I1), (C) - (III), (D) - (IV)
5: (A) - (IV), (B) - (1), (C) - (I1), (D) - (111)
c (A) - (1), (B) - (1), (C) - (IV), (D) - (1II)
D: (A) - (1), (B) - (I), () - (I1I), (D) - (IV)
Topic: Chemistry-Section A
Iltem No: 64
Question ID: | 100664
Question
Typees: ° MCQ
EnAl MeH 1
| O | O
4NHs{g) + 50,(g) > 4NO(g) + 6HxO(g) (7 NO(g) (I)
Question: Na(g) + 3Ha(g) > 2NHz(g)  (B) H,SO,(0) (II)
C12H20q1 (aq) + HpO)y — CeH 1206 + CeH 1204
Glucose Fructosce ©) Pis) ()
2502(g) + O2(8) > 2503(8) (D) Fe(s) (IV)
EFnbe DL
(A) - (II), (B) - (III), (C) - (I), (D) - (IV)
B: (A) - (IIL), (B) - (I1), (C) - (0), (D) - (IV)




C: (A) - (1), (B) - (IV), (©) - (1), (D) - (1)
D: (A) - (1), (B) - (1), (O) - (IV), (D) - (D)
Topic: Chemistry-Section A
Item No: 65
Question ID: 100665
Question Type: | MCQ
e U Lslil FLESL s Al Pl e Sugin S
Cs sl Na (A)
K.l Na (B)
Question:
Kr s Ar (C)
At »I' 1 (D)
E S 2 fe JL
A —52(B) sl (A)
B: —~ (C) 2! (B)
c: =52 (C) sl (A)
D: i (D) 1 (C)
Topic: Chemistry-Section A
Item No: 66
Question ID: 100666
Question Type: | MCQ

Question: | _g bl LNL elo e &SI i
A 3CusG+ 305 = 2Cu; 0t 2505

B: FesOy + CO — 3FcO + COy

C: Al»Oq + 2NaOH + 3H,0O — 2Na[Al{OH),4 |




D: Al,Os + 6Mg — 6MgO + 4Al
Topic: Chemistry-Section A

Item No: 67

Question ID: 100667

Question Type: | MCQ

question: | _ e W Qlesd I (L S QeI S S B B
A: Mg(OH), .»! Ca(OH),

B Mg(OH), 43! CaCOgy

c. MgCO; s Ca(OH),

D: MgCO; ss! CaCOs

Topic: Chemistry-Section A

Item No: 68

Question ID: 100668

Question Type: | MCQ

Question: Q,‘L.bhd!{b-'/;_ de:,ﬁ

: - GRS S AL L
B: _--::'_-(}/‘?bs"/ﬁ' KOQ

C: -,-;_J"rggab(j;ﬁdﬁ(rﬁirufyrl&

D: - a;_g;;,:,w(ﬂ;c}ﬁfd’;wér
Topic: Chemistry-Section A

Item No: 69

Question ID: 100669

Question Type: | MCQ




e byl eSS e

I &’ I &/
H, (D) (NHy):Cr07 —2  (A)
Question: N2 (II) KI\*“II‘ID,; + HU — (B)
O, (1) Al + NaOH + H,O — Q)
Cl, (IV) NaNO; —25 (D)
L Pl ALY
A (A) - (1), (B) - (111), (C) - (I), (D) - (IV)
B: (A) - (D), (B) - (), (©) - (IV), (D) - (1)
S (A) - (11), (B) - (IV), (C) - (1), (D) - (111)
(A) - (11I), (B) - (IV), (C) - (1), (D) - (1I)
Topic: Chemistry-Section A
Item No: 70
Question ID: | 100670
1Q_;Jpees:tion MCQ
Question: f“:-_l:é._".fllﬂﬁfa. e S S3E LI 6 Hy & (mineral acids) &Sl
A: Cu
B: Mn
C: Ni
D: n
Topic: Chemistry-Section A
Item No: 71
Question ID: 100671




Question Type: | MCQ

_uféé..;aty,nufd_j
—tbsfen S BOD wF Ty b’ Tk

Question: o e
e WIS F TS B T ke
iéh::?‘gﬁé‘;JJQLJnsuiﬁgJ:,tgugm

A _ugf; IT sl T s

B: B L Wl T WU 9

e e s M ke & 1ok

> e &M e s 1ok

Topic: Chemistry-Section A

Item No: 72

Question ID: 100672

Question Type: | MCQ

e Buuind e si1ed
| | O

Y () (A)

Question: ‘_,J:,o‘_lé 3 JI (II)

>PD< w
I\ s i gt (1) ]>< ©)

LA (av)




(A) - (11), (B) - (1), (C) - (IV), (D) - (11I)
(A) - (IV), (B) - (IID), (C) - (1), (D) - (11
c (A) - (I1I), (B) - (IV), (C) - (1), (D) - (11
o (A) - (IV), (B) - (1), (C) - (11), (D) - (1
Topic: Chemistry-Section A

Iltem No: 73

Question ID: 100673

Question Type: | MCQ

_éh.}d.&lﬁr épiéu"b"-cﬁbti

P

Question: BH ) Hg(OAQ), H,O

B 82 — H,C-C—CH=CH, == A

H,0,/0OH | NaBH,

CH,

A: _UEJ&LLU’/&LLU;H '‘B' sl 'A

B = LGB e SAL S BIVA

C: Sl sf Qo an B o A

o = L 3 A s SO B

Topic: Chemistry-Section A

Item No: 74

Question ID: 100674

Question Type: | MCQ

Question: ?':'_.(,?{(Ka..w.:.‘gg;pka JJLU:J“.;iLQJEJ{MEC)&J

H

A |_




H O
B |
1L,C—C—CH,
H

y CH,

O

H
OH

D:

Q
Topic: Chemistry-Section A
Item No: 75
Question ID: 100675
Question Type: | MCQ

- EEBAIA St S e s
(IZI
(1) CHLCHCHy AICly o 6 111 50,
Question: (2) 02
5 » P » A
(3)H , H,O .
Br, in (5,
B




OH

OH

sl

Br

OH O
43!

Br O
OH

Br Br

Vil

Br




OH

OH
BT' Br
D:
8

Br
Topic: Chemistry-Section A
Iltem No: 76
Question ID: 100676
Question MCQ
Type:

sl L sdoutds
Question: C 1_150\1"?1
CH,—-CH, - CH, CH CI—I—?-A+B
3 C -H-OH ( £0) ( ¢ )
ON(CH )

A: JZlwier A - CH;CH,CH = CH— CH,, B - CH;CH,CH,CH = CH,
B: JElerh A - CHLCH,CH=CH~CH,, B~ CH;CH,CH,CH = CH,
c: J\M A - CH,CH,CH,CH = CH,, B - CH,CH,CH = CHCH,
D: JZlvier A - CH;CH,CH,CH = CH,, B - CH;CH,CH = CHCHj,
Topic: Chemistry-Section A
Iltem No: 77
Question ID: 100677
Question Type: | MCQ

Question:

- ‘L:‘:a.-/f{; /dkﬁdﬁb




A LA K333 2t It $13-21- 25

B: S Sy K §15-81 -l I $13-01- o
c LGS K334 I J13-201- 25

D: LA K 313201 s i J13-261- 25

Topic: Chemistry-Section A

Iltem No: 78

Question ID: 100678

Question Type: | MCQ

_.T_&L«}ﬁb;-gié(x)gjﬁlﬁ Lo s S

HO —(|: -H
HO-C-H O
Question: |
H- (|Z— OH
HO —(|2 -H
H-C
| (%)
CH,OH
HO—‘
OIT
A OH
HO

OH




-

Ol
B: OH
HO

OH
HO )
: Qﬂ >
HO OH
OH
HO )
11O OIT
D OH
OH
Topic: Chemistry-Section A
Item No: 79

Question ID: 100679

Question Type: | MCQ

L esetbdie ALVl Lot
AL RS E A, (A)

g EZAL e s Js,  (B)
B mgE  (©

g fe i 1ndEs (D)
_éﬁflﬁé‘;uﬁdjﬁédj

Question:




A -~ (A), (D)
B: -~ (A), (O
c: -~ (A), (B)
D: -~/ (A), (B), (O
Topic: Chemistry-Section A
Item No: 80
Question ID: 100680
Question Type: | MCQ
S e QWS H0, S TE s Teizonde f
_J A B kb5 (A)
_u‘.?f(f; JF KL Fasky@Esr  (B)
Question: STl en bl (C)
LD e &b (D)
_ﬂa:gJ;JﬁKI,m;5~;uKJ;@;L@M;,« (E)
S e tIBL Y
A — (A), (B), (C)
B: — (A), (D), (E)
c: -~ (D), (B)
D: — (A), (B), (E)
Topic: Chemistry-Section B
Item No: 81
Question ID: 100681

Question Type:

Numeric Answer




iédlﬁéé:
X+ Y + 3Z=sXYZ,q

S B XYZy AL Iy 005 £ Z UPEL Y s X

Question:
(Jﬁé:{.ﬂ;)-{_. u:rllglj’d/ XYZB
:"l,f.l::
30 amu s 20 <10 .,.,.,.:'ﬁw:?{jﬂﬁd/ Z Y, X
Topic: Chemistry-Section B
Item No: 82
Question
D- 100682
_?;pees:tion Numeric Answer
6.0 g cm 3 :)CrJﬁ:’_f_E’;OU pm JI,-JJ;;L{JLGJKL‘L t‘ﬁ__/%_fﬁ.ufi.lédfl d’gd/’}() m /4"..?
Question: 3
(:ﬁé{{;'})_% x 1023 ;lp'id/u;/;ﬁu?y‘uf 180g L ~*
Topic: Chemistry-Section B
Item No: 83
Question ID: 100683

Question Type: | Numeric Answer

< ;lﬁd/;fl(j%bs‘lﬁ;ufdj

Question:
; T e +
Topic: Chemistry-Section B
Item No: 84
Qgestion 100684
ID:
Question .
Type: Numeric Answer




Ve (xx 10-1)°C 30f 5L 1S e U TALL (CeHgOp) A21bu541 10.2 g 441651 150 g
&b
L _-.,»E J X
Question: ? _
(Jsme] 7z )
K=3.9 k kg mol ~1: L
=176 g mol ! .:«,,f)y‘JMI._(uC'»‘«l
Topic: Chemistry-Section B
Item No: 85
Question
D 100685
Que§tion Numeric Answer
Type:
pH §JFid i 02 M . 2x10-5 kad L (C3H,COOH) il sz
Question: e X10-1
(log 2 =030 :{/1»)
Topic: Chemistry-Section B
Item No: 86
Question
D 100686
?ues.tion Numeric Answer
ype:
vt 2,059 G Lot 10 S5 e 03010 $1iidSSGL LA B S5 (Ent §6
uestion:
B L e
Topic: Chemistry-Section B
Item No: 87
Question ID: 100687

Question Type: | Numeric Answer

Question:

= 2 Ufg,t::lﬂd/u;ﬂu:i. 10 b‘(ﬁ*}d‘f/

CIPS, IP?, BI'FS, BI'FB, IECIEI-" IF5, CIF, CIF5




Topic:

Chemistry-Section B

Item No: 88
Question
D- 100688
1Q_ue§tion Numeric Answer

ype:

A :led»(ﬁdl Mn - B )ﬁliq’?"a:_B s A =y (Mg) ;j‘%}{LﬂwIﬁ(ﬁK MnO3 ™ VoI 4
Question: i i BM =8 () et 8 A8 Bon e
(e 7 2)

Topic: Chemistry-Section B
Item No: 89
Question ID: | 100689
_?ues.tion Numeric Answer

ype:

. # - wa a2 £ * s
Question: | _ [ ABS A T 62 L [Cufen)y(SeN)y]
Topic: Chemistry-Section B
Item No: 90
Question
D- 100690
Ques.tion Numeric Answer
Type:

U 0.4428 ¢ H,0 21 CO, 0.79378 g £ L% ;ru‘? 0492 ¢ £t bl 1, O 4 H,C
Question:




